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  In Figure 2.7, interchange di and d in parts (a) and (b). 
  Figure caption should now read:  

 FIGURE 2.7: Equivalent ways of showing energy from dAi that is incident 

on dA. (a) Incidence within solid angle d having origin at dAi; incidence within 

solid angle di having origin at dA. 

   160                    In Figure 4.2, the two vertical lines labelled lcosb should be labelled 

  lsin  



   163                   In Eq. (4.15) the RHS should read dA1Fd1-2 

 174                   In Example 4.1 the first equation should read:  

                                              − − − − − −+ = + = + =1 1 2 1 1 3 1 2 2 1 2 2 3 2 3 3 1 3 3 2 3A F A F A ; A F A F A ; A F A F A  

   186                       Some linits on the integrals in both equations are incorrect. The correct equations are:  

 

 

 

 



 

 

 



 

 

408                    HW Problem 7.19 Answer should be 4.10 hr 

466                    Example 9.1 The first line of the second paragraph should read:  

 Relations  from the exponential wide-band model for α, β, and ω, 
and the transition (−1, 0, 1) are used. (See the footnote for the 9.4 

m band in Table 9.2). 

 

470 Line after Eq. (15.97) Replace  with 1. 

916 The reference to Chan, S. and Ge, X. S. should be to Chen, S., and Ge, X.S., and should be 
reordered alphabetically. 



 


